TS AT UfeTh R | ek Tage &) o1 B8 82

Al : Text Block

TRE D

A2 : Text Container

TRE HeW

A3 : Text Placeholder

Max Marks : 100
ALL INDIA TRADE TEST - 2025 FOR CRAFT
INSTRUCTOR TRAINING SCHEME - ENTRANCE
EXAMS
Trade Name: Desktop Publishing Operator
Year: 1st Year
Exam Date :
Exam Time :
Note:
1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (1 Marks each)
3. There is no negative marking
AV o i
I\Slg. QID Question Body and Alternatives 4 RS Marks Nf/lg;t:e
TRADE THEORY N
1 The tool used to move the page around within the publication window........ 1.0 0.00
DI Y T BT SUANT UTRTH R A0S & 3ia YF 1 RIFTART B & o {3 s g2
Al : Pointer
A2 : Text
A3 : Rotation
A4 : Grabber-Hand
TR IS
. ./ TRADE THEORY
2 The area indicate by dark black lines along the page border is known as......... 1.0 0.00
O &1 U1 & 1Y TR BTl T BRI B 3T Hed 82
A1l : Border
A2 : CorelDraw
PR G
A3 _iPage Area
0% TR
A4 : Starting Area
TRADE THEORY
3 3 The container of text in a PageMaker publication is referred to as............ 1.0 0.00




A4 : Text Object

TRADE THEORY

While entering text, a paragraph is created when you press ...............

T T TRE YR B & TRTITS 91§ O M1 ... PO ITIRAS |

Al :ESC
ESC

A2 : Enter
Enter

A3 : Shift
Shift

A4 : Alt + Enter
Alt + Enter

TRADE THEORY

The numeric classification of fonts according to visual characteristics to substitute fonts of comparable appearanceis known as

qa1a IufRUfY & Wi F ey F TR B P TATHD 60 Bl 77 Hed g

Al : ATM
ATM

A2 : PANOSE
PANOSE

A3 : MAP
MAP

A4 : Font Array
Font Array

TRADE THEORY

The adjustment of space between a pair of characters is known as...............

U Ted] & ol H W Bl TSAFHE DI ... HEA &l

Al : Font Size

T T8

A2 : Font:Weight

Bl 9%¢

A3 : Kerning

A4 : Font Measure

TRADE THEORY

The Keyboard short cut to move from one publication to another in PageMaker is ...............

Ul AR H PI--t e FHe Foit BT TGN U2 Bl T RIF T GER R H 77 B 3 forg {3 smar 82

Al:Ctl+C
Ctrl + C

A2 : Ctrl + Home
Ctrl + Home

1.0

0.00




11

11

A3 : Ctrl + PgUp
Ctrl + PgUp

A4 : Ctrl + Tab
Ctrl + Tab

TRADE THEORY

Colours can be applied to characters in increments of ...............

....... P g I 90 R 1 b o whar 71

Al : 4% tint
4% tint

A2 : 6% tint
6% tint

A3 : 3% tint
3% tint

A4 : 5% tint
5% tint

TRADE THEORY

The menu option is used for adding pages is ...............

........... T fahed &1 ST g§l &1 S & fo fpar Sian g |

Al : Layout->insert pages
Layout->insert pages

A2 : Type->insert pages
Type->insert pages

A3 : Edit->insert pages
Edit->insert pages

A4 : File ->insert pages
File ->insert pages

TRADE THEORY

Which tool is used to select and move©bject?

3T B g SR Hd B [y oo &1 SugnT fohar s 82

Al : Pointer Tool

WER g

A2 : Text Tool

TR ¢

A3 : Rotation Tool

A A

A4 : Tool

[

TRADE THEORY

The guide that appear automatically while creating a new publication is known as

1 USRI T S GHT Wi TU fawrs 39 a1 T3S &) el S 31

Al : Margin Guide

A2 : Column Guide
DITHT 5‘3

0.00




13

14

13

14

A3 : Ruler Guide

A4 : Normal Guide

TRADE THEORY

Each template provided with PageMaker comes in a special format called ............... 1.0

TTHHR & I g a7 Treie U faxiy Uy & 317aT 38 $ed B

Al : pages

Ag : d(?cuments
A3 : scripts

A4 : files

TRADE THEORY

An example for type case attribute is ............... 1.0

13U 4 TEISE BT ST 8-

Al : Bold
A2 : Ttalics
A3 : Small Caps

A4 : Underline

TRADE THEORY

The type of kerning is usedTor Eeadli;es and display type based on character shape and on the kern strength is ............... 1.0

DI G BRI BT ST 3R 0l & SHBR 3R IR BT T P SMYUR TR 31 ST g2

Al : Automatic Kerning

A2 : Manual Kerning

B3 BT

A3 : Expert Kerning
ST
A4 : Normal Kerning

TRADE THEORY
In PageMaker Template file is stored with ............... 1.0

Uorieny 7 Sreie Brsd o) ... & Sufed fovar o 82

Al: .t165
165




16

17

19

16

17

19

A2:.T65
.T65

A3 :.b65
.b65

A4 : p65
.p65

TRADE THEORY

The view option shows every page of the document, as it will appear while printed is..........

B T el &% T U &) e & o9 a8 fic g e gl

Al : Normal

A2 : Web Layout
EEKEIRT

A3 : Print Layout
fiic demse

A4 : Document Map

TRADE THEORY

Which type of web sites end with .edu extension?

B A UBR B! IS B .cdu THHTA B

Al : Commercial sites
A2 : Education sites
A3 : Military sites

X

A4 : Organization sites

TRADE THEORY

Which option is used to,view. two parts of document in different panes simultaneously in MS Word?

MS TS H STagRe Hal U Bl U T1Y - & o 19 I fIhed o7 SuahT fhar s g1

Al: Split

A2 : Change

A3 : Turn

A4 : Close

TRADE THEORY
Which of the following is a high speed print device?

frafeied 3 9 o e = TR file feaga 32

Al : Line Printer

ag fiex




20

21

22

23

20

21

22

23

A2 : Dot Printer

19

3ie filex

A3 : Page Printer

A4 : Character Printer

PaeR filex

TRADE THEORY

To add a table in a word document, from the Table menu we need to choose.....

IS STagHC H Tl A H CFel o b forT &6 I 1 e o-

Al : Create->Table
Create->Table

A2 : Add->Table
Add->Table

A3 : Select->Table
Select->Table

A4 : Insert->Table
Insert->Table

TRADE THEORY
E-Mail isused to ...............

g .0d &1 Iua 4 forw fovan S &2

Al : Delivery Receipts
A2 : Vouchers
A3 : Exchange Mails

A4 : Exchange Money

TRADE THEORY

A2 : 45 Bits
45 Bits

A3 : 87 Bits
87 Bits

A4 : 100 Bits
100 Bits

TRADE THEORY

What is the maximum number of pages that the print preview option can display at a time?

T THY A fife Nfay feey sifiead fbda gy weliq sxar g

0.00




24

25

26

27

24

25

26

27

Al1:20
20

A2:50
50

A3:35
35

A4 :40

TRADE THEORY

Notepad application is used to.........

et uferh e &1 Iuai 6y fore fovar Srar g2

Al : Draw images

TS §H & ferg

A2 : Create Animations

& ferg

A3 : Insert tables

A4 : Edit text

TR P U FA B forw

TRADE THEORY,

INTERNET stands for ...............

INTERNET BT HIAS & :

Al : Inter-National
Inter-National

A2 : Intersystem Node
Intersystem Node

A3 : Inner Access Net
Inner Access Net

A4 : International Network
International Network

TRADE THEORY

Which of the following device is essential to connect your computer to a LAN network? 1.0

DI Yl fEGTST BT IUTRT FIUGLR BT LAN Fead I Siie & o giar g2

Al : Server

A2 : Network Interface Card
A3 : Monitor

A\é} : Modem

HISH

TRADE THEORY

Which device is used for converting data from Analog signal to digital signals and vice versa? 1.0

T Rird @ Se1 b fefrea Rme # uRafdd A & o o A fSasa &1 Suai far srar g2

0.00

0.00




28

29

30

31

28

29

30

31

Al : Monitor

A2 : Modem
HISH

A3 : Keyboard

A4 : Mouse
HI3H

TRADE THEORY
What is the expansion of WWW? 1.0

WWW T R @ 22

Al : World Whole Web
World Whole Web

A2 : World Wide Web
World Wide Web

A3 : World With Web
World With Web

A4 : World Web Width
World Web Width

TRADE THEORY
What is the expansion of DOS? 1.0

DOS &1 IR 1 31

A1l : Disk Output Service
Disk Output Service

A2 : Disk Operating System
Disk Operating System

A3 : Disk Operating Service
Disk Operating Service

A4 : Disk Storing Device
Disk Storing Device

TRADE THEORY

Which'option is used to find files in windows? 1.0

DI Y ey BT IUTIT fAUST T Isd &1 g I forg famam o 82

Al :Run
A

A2 : Program
A3 : Search

A4 : Find
BIg<S

TRADE THEORY

The paint application is used for......... 1.0

0.00




32

33

34

32

33

34

Ye UfR1P A 1 IuanT 39 fre far sirar &9

Al : drawing images

S S & ol

A2 : creating videos

faSHl R & & fog

A3 : creating Notes

e §1 & g

A4 : creating Networks

{§H & g

TRADE THEORY

Which of the following option checks for errors in the current drive?

FrofiRad 5 S HF a1 fawed adAM SEa # 4fe 3 S FRaT g

Al : Scan Disk

T fewm

A2 : Hard Disk

TIe e

A3 : Floppy Disk
il f&ws

A4 : Zip Disk

o fexw

TRADE THEORY:
Which is the lightest picture in bits among these ...............

THARNCg A ged ... Rm e Al

Al :JPEG
JPEG

A2 : GIF
GIF

A3 : TIFF
TIFF

A4 :PSD
PSD

TRADE THEORY

Which is.the best suitable software for picture corrections of raster Images?

IR 30 & o YUR F AT T IUYI AR S AR

Al : Adobe Photoshop
Adobe Photoshop

A2 : Adobe page maker
Adobe page maker

A3 : Corel Draw
Corel Draw

A4 : Vector GRAF
Vector GRAF

TRADE THEORY

0.00




35

36

37

38

35

36

37

38

What is pixel?

RTwIRI

Al : A set of square

il &1 ag

A2 : A smallest unit (dots) that forms a picture

T DI SHTS off o F1et B

A3 : A output device which print text

33eye feardy it e fife wdt &

A4 : An electronic device
& SADHCIHD IUHRT

X

Yellow color produce at ...............

fAT P AT ... TR A

Al : 90 degree
90 degree

A2 : 120 degree
120 degree

A3 : 180 degree
180 degree

A4 : 60 degree
60 degree

Any color mixed with grey produces.....

B NN AP g AR ... REa? |

Al : tone

A2 : hue
X

A3 : contrast

X

A4 : shade

TRADE THEORY

TRADETHEORY

TRADE THEORY

............... files can contain both bitmap and vector graphics

BrEe # e A7 3k doe MR 1 1 Ibd 71

Al : BMP
BMP

A2 : EPS
EPS

A3 : GIF
GIF

A4 :DRG
DRG

0.00
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40

41

42

39

40

41

42

TRADE THEORY

Al : Composed of Pixels
GEEI]

A2 : Composed of Thousands of dots
ORI SicH ¥ T

A3 : Slightly more difficulty to manipulate than other images

3 Rl e SR e wged R A i3 gl g

A4 : Composed of objects such as lines, rectangles and ovals

1L, AT SR SHiaet § ST gan giar g

TRADE THEORY

Al : Authorizing Streaming Program
Authorizing Streaming Program

A2 : Graphical Map Editor
Graphical Map Editor

A3 : Web page Editor
Web page Editor

A4 : Robotics Authoring Program
Robotics Authoring Program

"TRADETHEORY

GIMP refers ...............

GIMP &7 3 B

A1l : Graphical Image Management process
Graphical Image Management process

A2 : Gamute Intelligent Motion Picture
Gamute Intelligent Motion'Picture

A3 : GNU Image Manipulation Program
GNU Image Manipulation Program

A4 : GNU Linux Operating System
GNU Linux Operating System

TRADE THEORY

Al : filters that have been applied to the image

fiperer off ofd WAL 8l

A2 : images stacked on top of each other

TP T & SR TGT 7S 3

A3 : colour, contrast and brightness correction
1, faRIuTT SfR I9E Pl gt HeAl

A4 : previous versions of an image

A T U G




43

44

45

46

43

44

45

46

TRADE THEORY

What is the color mode that is used in the color separation process in Photoshop? 1.0

DI T HR AIS § BT ST BRI H ... QYR Uiehar H AT ST § |

Al :RGB
RGB

A2 :CMYK
CMYK

A3 : Greyscale
Greyscale

A4 : Indexed colors
Indexed colors

TRADE THEORY

What is a continuous tone image? 1.0

FHRFgE A AT T e

Al : Tt is one where each color at any point in the image is reproduced as a single tone

Ig 98 Ufshar € o g8t & frft ot forg R e 11 wobet @ & =0 & g FfHfq foba Smar®

A2 : It is discrete half tones

3 I H 3R X B UfhaT

A3 : Gradation

A4 : Tt is a reprographic technic to change halftone

g BTet T Bl

TRADE THEORY

The native file format of CorelDraw is ............... 1.0

B SHT BT I BIed TR0 7

Al : PDF
PDF

A2 :DWG
DWG

A3:CDR
CDR

A4 . JPG
JPG

TRADE THEORY

............... command has light sources to project towards objects in CorelDraw. 1.0

........ HRE gl H oo BT 3R FA & forg Arde A 5

Al : Blend
Blend

A2 : Envelop
Envelop

A3 : Contour
Contour

A4 : Extrude
Extrude

0.00

0.00




47

48

49

50

47

48

49

50

TRADE THEORY

Which of the following tool is used to resize the objects in In-Design?

& faoea o sifesiae @1 &= & (AT {5 g &1 SuanT fan St 81

Al : Scale tool

wagd

A2 : Shear tool

RrR @

A3 : Free transform tool

W e aw ¢

A4 : Notes tool
Aleaga

TRADE THEORY

Which of the following tool is used to add comments the objects in In-Design?

T1-fEue a7 3 5w ga &1 IuanT sifssige B S STaq & g faam s 89

Al : Scale tool

wHacd

A2 : Shear tool

RrR @

A3 : Free transform tool

Tt ST ¢

A4 : Notes tool
dledga

. TRADE THEORY

Which of the following allows to print objects that,arelarranged at the outer edge of the defined page size in In-Design?

& feoiga & Fafofaa § @ o9 a1 sifeoide @1 i dr @ o U 3R & STge! fbIRY IR Safyd 8 B

Al : Slug
T

A2 : Indent

A3 : Bleed

A4 : Preview

TRADE THEORY
Which one of the following is an issue for UNICODE usage in Multilingual applications?

Fufarea & 9 11 te Hadifeind TerbeH # UNICODE ¥ ot Tad gIaT g |

Al : Platform of Operating System
Rrea &1

A2 : Application software

A3 : Language script

0.00
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52

53

54

51

52

53

54

A4 : Keyboard

CIEIS]

TRADE THEORY

An example of Impact Printer is............

Zriige er Iareru

Al : Dot Matrix Printer

Bl A fifer

A2 : Inkjet Printer

A3 : Thermal Printer

A4 : Laser Printer

o fifex

TRADE THEORY

An optical input device that interprets pencil/pen marks on paper media is.........

T DS 37Ye FEarsy it O W URyd a1 97 & =1 &t e FRa1 7

Al:0.M.R
O.M.R

A2 : Punch card reader
PEEICRIER

A3 : Scanners

A4 : Mouse
HI3H

TRADE THEORY

What is the full form of CRT?

CRT &1 3 B

Al : Current Ray Tube
Current Ray Tube

A2 : Current Ray. Technology
Current Ray Technology

A3': Cathode Ray Tube
Cathode Ray Tube

A4 : Cathode Ray Technology
Cathode Ray Technology

TRADE THEORY
Which technology is used in a CDROM Drive?

CDROM $13d & %1 Ul deh-d BT IUaNT b oirr 82

Al : Mechanical

A2 : Electromechanical

X

A3 : Optical laser

0.00
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56

57

58

55

56

57

58

A4 : Fibre
LIRS

Data (information) is stored in computers as

T 3R G Bl HYeR H Gufed fbar Sar g |

Al : Files

A2 : Directories
A3 : Floppies
TRATS

A4 : Matter

............... is a softcopy output device
T Wit Bt 3Heye fEasa g1
Al : Monitor

A2 : Printer

A3 : Plotter

LNISE

A4 : Microphone

............... converts a types, handwritten or printed text into machine -encoded text.

TRADE THEORY

TRADE THEORY

TRADE THEORY

oy, oIk fifts toe & PH-g N toe & seadi g2

Al : Barcode

TRPIS

A2 : Bar¢ode reader

TR PI3 Re3

A3 : OCR
OCR

A4 : Card reader

Which is not a secondary storage device?

DI Jeb et TR {SaTgy gt 87

Al:DVD
DVD

A2 : Pen drive
Pen drive

TRADE THEORY

0.00

0.00

0.00
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60

61

62

59

60

61

62

A3 :RAM
RAM

A4 : Hard disk
Hard disk

TRADE THEORY

A piece of software which make additional copies of itself and spreads without user knowledge is called

UG TIFRAWR S SUANTh ! b1 SR & fa1 2fafed ufeai a1 & 8k 39 tharar g

Al : Antivirus

A2 : Virus
CIRRSS

A3 : Application software
A4 : Firmware

TRADE THEORY

Software used for specific purpose is called ...............

Tty Ia=a & forg SwanT fobe S ATl Wt deR 1 & Fgd o7

Al : Operating System

SfrRfeT Rew

A2 : Compiler Software

A3 : Application Software
HrhedaR

A4 : Firmware

TRADE THEORY

Software which converts high level language into low level language and vice versa is .........

Tl dTR 1 S= WHF 11T ! 97 TR § 78 uRafdd srarg:

Al : Operating System

A2': Compiler Software

A3 : Application Software
GIETEON

A4 : Firmware

TRADE THEORY
............... can access the CPU directly.

........... B CPU 1Y TR BT B |

Al : Primary memory

A2 : Hard disk
HEARISD

0.00

0.00
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64

65

66

63

64

65

66

A3:DVD
DVD

A4 : Blu-ray
&I

We can create a master page in......

BHSIH AR U ... H ST gD § |

Al : PageMaker

A2 : MS-Word
WL TS

A3 : Notepad

A4 : Wordpad

In PageMaker shortcut key for zoom-out is ...............

O AR H 9 313¢ & for Adae ot ... B

Al : Shift +
Shift +

A2 : Ctrl -
Ctrl -

A3 Alt+
Alt+

A4 : Ctrl +
Ctrl +

The image quality of a printer iSuneastred in what units?

fOrex & 0S5 3 quIaaa! i WY ShTS A R R

Al : DPI
DPI

A2 IP1
LPI

A3 :PPI
PPI

A4 :CCD
CCD

Status bar in MS-Word shows.......

MS-Word § %o R &1 feard &2

Al : Setting of margin

TRADE THEORY

TRADE THEORY

TRADE THEORY

TRADE THEORY




67

68

69

70

67

68

69

70

A2 : Dividing your work
STH DI AU BT

A3 : For book design

T fEomsA & forg

A4 : Current cursor position indicating page number and words

HIR Bt U ST U TS 37R Weaf b1 feaelt

TRADE THEORY

Al:PSD
PSD

A2 : PDF
PDF

A3 :PPT
PPT

A4 : PMD
PMD

TRADE THEORY

Al:210x 287 mm
210 x 287 mm

A2:210x 297 mm
210 x 297 mm

A3:210x 277 mm
210 x 277 mm

A4:210x 300
210 x 300

TRADE THEORY

Both sides of A4 paper:ve c;n print ............... number of A5 pages.

A4 TR F NARD GH I PRIBAG oo A5 Sl ) e

TRADE THEORY
CMYK are knownas ...............

CMYK & $8d B

Al : Cut colour
P DR

0.00




71

72

73

74

71

72

73

74

A2 : Primary colour
TEAY HeR

A3 : Process colour
TR HeR

A4 : Spot colour
I HR

TRADE THEORY

Incoooeninns process barcode and labels are accurately produced.

........ UfehaT & IR BIs 3R dleet BT el ST foban S 21

Al : Letter press

A2 : Intaglio

A% : Offset

A4 : Thermal printing
e f

TRADE THEORY

In......... process the ink passes through the image areas.

......... EERIBRIGEIERES RGN

Al : Letter press
A2 : Intaglio

A3 : Screen printing

oA fifeT
A4 : Offset
e

TRADE THEORY

The thickness of paper/beard are measure in ...............

BT AT 1 AKCTE Dl ..., A HIOT ST R

Al : gms
gms

A2 :gsm
gsm

A3 : gmm
gmm

A4 :gecm
gem

TRADE THEORY

Al : 48 Sq in
48 Sq in




75

76

71

78

75

76

77

78

A2:49 Sqin
49 Sqin

A3:46 Sqin
46 Sq in

A4 :47 Sq in
47 Sqin

Text Blocks are always held together by ......

TRADE THEORY

TR AP SHMTH Y ........... EReCAT I

Al : Window Shadow Handle

o<1 A9 gued

A2 : Overset Shadow Handle

A3 : Frame Shadow Handle

A ST UST

A4 : Block Shadow Handle
% Y8 FUSA

What is the value of 21 + 496 ~ 16 =?

21 + 496 + 16 T HIH SIS

Al:51
51

A2:52
52

A3:53

A4 :54
54

What is the valuie.of 3232+ 4848 - 4242 = 2

3232 + 4848=42421 A ST

Al,:3535
3535

A2:3636
3636

A3:3737
3737

A4 :3838
3838

What is the value of (26 x 22) + (27 x 9)?

(26 x 22) + (27 x 9) BT A T3

Al : 815
815

NUMERICAL ABILITY AND REASONIﬁG

NUMERICAL ABILITY AND REASONING

NUMERICAL ABILITY AND REASONING

0.00
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80

81

82

79

80

81

82

A2:816
816

A3 :817
817

A4 :818
818

NUMERICAL ABILITY AND REASONING
What is the value of (3440 = 16) x (286 + 13)? 1.0

(3440 + 16) x (286 + 13) BT AM I3

Al:4720
4720

A2: 4730 "
4730

A3:4740
4740

A4 : 4750
4750

NUMERICAL ABILITY AND REASQN&Q

Doctor is related to patient in same way teacher is related to..... 1.0

STeeX IR & T Q I8 e e gfRid &

Al : Education

A2 : Hospital
SRR}

A3 : Student

faameff

A4 : School

NUMERICAL ABILITY AND REASONING

TR g 0o I oE A SR @

Al €loth

A2 : Leather
qHST

A3 : Shoes

A4 : Shop

NUMERICAL ABILITY AND REASONING
What is the value of (6650 + 50) x (169 = 13) =2 L0

(6650 = 50) x (169 + 13) = T T FT 2

0.00

0.00




83

84

85

86

83

84

85

86

Al:1723
1723

A2:1725
1725

A3:1727
1727

A4:1729
1729

NUMERICAL ABILITY AND REASONING
What is the least number to be added to 5328 to make it a perfect square? 1.0

5328 7 HH Y HH o1 ST 9T o5 a8 guf & & oY

NUMERICAL ABILITY AND, REASONING
What is the average weight of all the 6 boys, If the body weight of 6 boysdecorded a§21Kg, 27Kg, 33Kg, 40Kg, 47Kg and 54Kg? 1.0

3R 6 ASThal BT a0l HUT; 21Kg, 27Kg, 33Kg, 40Kg, 47Kg, 54K g 3TR68Ke & o 37T SId aoi- T T

Al :36 Kg
36 Kg

A2:37Kg
37Kg

A3 :38Kg
38 Kg

A4:39Kg
39Kg

Q| NUMERICAL ABILITY AND REASONING
Mr.Ganesh'purchased Fridge for Rs 32,000 and sold it to Rs 40,000 what is the profit percentage? 1.0

oft A0V 3 Pridge ¥ 32,000 H WAST H T 40,000 T =1 A ATH UTAId Id18d

Al:10%
10%

A2:15%
15%

A3:20%
20%

A4 :25%
25%

NUMERICAL ABILITY AND REASONING

What would be the simple interest obtained an amount of Rs 6000 at the rate of 12% annum at the end of 2 years? 1.0

T 6000 DT 12% TP & F 2 T BT YR SIS TS5

0.00




87

88

89

90

87

88

89

90

Al :Rs 2160
Rs 2160

A2:Rs 2170
Rs 2170

A3 :Rs 2180
Rs 2180

A4 :Rs 2190
Rs 2190

NUMERICAL ABILITY AND REASONING
An almirah is sold at Rs 6204 after allowing a discount of 6%. Find its marked price? 1.0

T R B 6% FSTBIBT & TG 6204 T T o1 T ST FIfgd G (MRP) Fa1sd

Al :Rs 6500
Rs 6500

A2 : Rs 6600
Rs 6600

A3 :Rs 6700
Rs 6700

A4 : Rs 6800
Rs 6800

NUMERICAL ABILITY AND, REASONING

Ram deposited Rs. 9000 with a finance company for 2 years at an compound interest'of 10% per annum. What is the amount that 1.0
ram gets after 2 years?

A AT, 9000 TH IS HHIT b U 2 a B 10% Tfeh SR SIHLHRIT 2 T URET Iehacil Sref aaigd

Al :Rs 10,830
Rs 10,830

A2 : Rs 10,850
Rs 10,850

A3 :Rs 10,870
Rs 10,870

A4 :Rs 10,890
Rs 10,890

NUMERICAL ABILITY AND REASONING

30 men can complete of a piece of work in 20 days. How many more men must be required to complete the work in 15 days? 1.0

303G TH B 20 TGA F HR I 31 SR FH B 15 faT B A & forg fore sireht ok v ud

A4:10
10

NUMERICAL ABILITY AND REASONING
What distance does he travel everyday, If a person runs 9 km in 30 days? 1.0

3R Teh oafe] TR G&lTg § 9 Km =il & dl ufdfes e gl qu var g

0.00

0.00




91

92

93

91

92

93

Al:300m
300 m

A2:310m
310 m

A3:320m
320 m

A4:330m
330 m

NUMERICAL ABILITY AND REASONING
What is the value of 1971 +91 x 15?

1971 + 91 x 15 BT A T2

Al:3335
3335

A2:3336
3336

A3:3337
3337

A4 :3338
3338

NUMERICAL ABILITY AND REASONING

What is the area of square, If the perimeter of square is 536 cms?

3R foret a7f &1 Ui 536 .. B T 3HDT A% 1 BN

Al : 17936 cm?
17936 cm?

A2 : 17946 cm?
17946 cm?

A3 : 17956 cm?
17956 cm?

A4 : 17966 cm?
17966 cm?

NUMERICAL ABILITY AND REASONING

24 men can complete a piece of work in 12 days in how many days will 36 men complete the same work?

24 3MGH T B BT 12 37 & R R bl 7, I B &1 36 3MeH! fram fo A qrr vy

Al : 8 days
g fa

A2 :9 days
9fas

A3 :10 days

1ofea

A4 : 11 days

1 e

NUMERICAL ABILITY AND REASONING

0.00




94

95

96

97

94

95

96

97

What is the speed of a train, If it covers a distance of 180 Km between two stations in 2/ hours? 1.0

3R B 2 180 . 1. BV g8 214 0 T &) R 77 Bl § T SHB! T IRy

Al : 70 Km/hr
70 Km/hr

A2 : 72 Km/hr
72 Km/hr

A3 : 74 Km/hr
74 Km/hr

A4 : 76 Km/hr
76 Km/hr

NUMERICAL ABILITY AND REASONING
What is the value of 91 + 416/8? 1.0

91 +416/8 BTHH R G ?

Al:123
123

A2:133
133

A3:143
143

A4:153
153

NUMERICAL ABILIBYAND REASONING

Flower is related to Rose in the same way as vegetable is related.to. .« 1.0

BT TSR § S O ool WEd &

Al : Apple

A2 : Carrot

A3 : Root
s

A4 : Stem

NUMERICAL ABILITY AND REASONING
What is the cost of 8 Kg of Apples, If the cost of 4 Kg of apples are Rs 500? 1.0

4% 71 99 BT F. 500 A1 8 136,771, 9 &1 Y01 Farsd

Al :Rs 700
Rs 700

A2 :Rs 800
Rs 800

A3 :Rs 900
Rs 900

A4 : Rs. 1000
Rs. 1000

NUMERICAL ABILITY AND REASONING

0.00




98

99

100

98

99

100

What is the total number of books in the book shop. If 35% books are in Tamil, 45% books are in English and the remaining 100 1.0
books are in other languages?

Tt g A 35% fobaTel affre T ], 45% fhaTe 3 A § 3R [ 100 fpame gt HTwrsh 7 8 df oo fpare &1 Tem

Al1:300
300

A2:400
400

A3:500
500

A4 : 600
600

NUMERICAL ABILITY AND REASONING
25% of a number is 500. What is 50% of that number? 1.0

TR et TR BT 25% = 500 T I T BT 50% T G2

Al:850
850

A2:900
900

A3:950
950

A4 :1000
1000

NUMERIGAL ABILITY AND REASONING
What should come next in the alphabetical series AC F HK M\PR U W? 1.0

3ol 31&R TRIST A CF HK M PR U W 3T 3{&R, T8N
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-No. Correct Answer Key
1 A4
2 A3
3 A1
4 A2
5 A2
6 A3
7 A4
8 A4
9 A1
10 A1
11 A1
12 A3
13 A3
14 A3
15 A2
16 A3
17 A2
18 A1
19 A1

20 A4

21 A3

22 A3

23 A2

24 A4

25 A4

26 A2

27 A2

28 A2

29 A2

30 A3

31 A1

32 A1

33 A1

34 A1

35 A2

36 A4

37 A1

38 A2

39 A4

40 A3

41 A3

42 A3

43 A2

44 A1

45 A3

46 A4

47 A1

48 A4

49 A3

50 A4

S.No. Correct Answer Key
51 A1
52 A1
53 A3
54 A3
55 A1
56 A1
57 A3
58 A3
59 A2
60 A2
61 A3
62 A1
63 A1
64 A2
65 A1
66 Ad
67 A4
68 A2
69 A2
70 A3
71 A4
72 A2
73 A2
74 A3
75 A1
76 A2
77 A4
78 A1
79 A2
80 A3
81 A3
82 A4
83 A4
84 A2
85 A4
86 A1
87 A2
88 A4
89 A4
90 A1
91 A2
92 A3
93 A1
94 A2
95 A3
96 A2
97 A4
98 A3
99 A4
100 A4






